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V-D = p, (7.1)

V-B = 0, (7.2)
0B

VxE = — o (7.3)

VxH = I+8£. (7.4)
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D = B, (7.5)
B = uH, (7.6)
I = oE. (7.7)
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8—1’ +(v- Vv = V(i), (7.8)
Vv = 0. (7.9)

000 v=v(r,y,2,t) 0000000,p,p00000D00O0COOOOO.

(1) (7.8)00000000000000000

0

E(va):Vx[Ux(va)]
gbooob.00b0o0obo Vxoooooo.

(2 0000000 (Vxv=0000,000000 ¢(z,y,2¢) 0000

v=Vo¢

D0000000000 (p000D0000000D0O00n).
(2 0000000,000000000 ¢0
Vi =0

000000000 (O000000D0O0O0oooooao).

3 Uopoooooooo,opooobood

|
2+ P opo
2 p

0000000000 (0oDO0O00000).000v=|v|000.

20030 50 230 (DOO0O)



